
  Unit 2.1 – 2.3 Check 

Name: ______________________ 

1. Complete this table. 

Power Base Exponent Repeated 

Multiplication 

Standard 

Form 

53     

(–3)3     

 4   −16 

   – (2 × 2 × 2 × 2 × 2)  

−(−6)3     

110     

 7 0  −1 

−1250     

(−4)0     

 

2. Evaluate each expression. Show all steps. 

a) 22 − 23  b)  −5+ 25 − [4 − 3 × (−2)]       c)  −40 + 2(30 + 22) 

  



3.  Evaluate each expression. Show all steps. 

a. 
−32+5

40−20−(−6)0
   b. −52 − (70 + 52 − 33)7 

 

 

 

 

 

 

 

 

 

 

4.  Find and correct the error. 

  

(−32 + 173)0 − 2(−3 × (−2))
2
 

= 1 − 2(−3 × (−2))2 

= 1 − 2(−6)2 

= 1 − 2(36) 
= −1(36) 
= −36 

 

 

 

 

 

 

 

 

 

5.  Bonus! 

  

 Where do the brackets need to be placed to make the equation true? Show your workings. 

 

−5 + 2 × 32 − 4 = 5 


